QUESTION BOOKLET

This question paper contains 170 questions. / ¥ 77 & d170 97 & |
Al questions are compulsory. / @ 773 ifard & |

) T A % 70 Fae 3w R |

One question carries half mark only.
Maximum Marks : 85 wftwan 3 - 85
Time : 2 Hours 99 : 2 U2

1.

If r, s, t are positive numbers and p. q are positive integers such that LCM of
p, q is rt¥s?, then the number of ordered pairs (p, ) is

ﬂﬁr.s.tﬂ#@ﬁsﬂtp.qﬂ#'{"ﬁﬁﬁm‘!ﬁ‘ip.qmﬂ.ﬂ. s R, T
@ g (p, q) 1 wEA R

(A) 224 (B) 232 (C) 244 (D) 252
2. Let R be arelation on'a set A such that R = R-!. Then R is
(A) transitive  (B) re flexive  (C) symmetric (D) None of these
ar s R & AUS.A T EaU A AR R fE R = R, 7aRE
(A) WFT ' (D) ¥ & =T
3. The period of the m
ey = | sinx |+ &
(A) 5 (D) 57
4. Iffz+4]<3. IHH}EFM +il llul
‘ﬁld+4l£3'f!Lz'"+l. .'T 1 h-t I
0 by 70 It 1ogejher D) 6
' The number of solutions of logy(x = 1) = 10g(x = 2)is
ogy(x—1)=logy(x - Z)t!ﬁﬁﬁ'@'l#
(A) 2 (B) 5 (€ 92 (D) 12
6. The maximum number of points of rinlcrsctlinn of 8 circles is
§ gt & wfirade firgaft sftrwam s =R ?
(A) 42 (B) 56 (C) 64 (D) 72
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- " | isdivisible by
= | fees g 2 7

BYR (B) $8 ©) 72 (D) 108
X. ' e number of terms in the expansion of (1 + Ix +_;;1 + x3pPis
(14 3x + 352 + 38 & wam 1 w2 1w R -
(A) 7 (B) 14 () 19 (D) 2
. The sum of all two digit odd numbers is
ot @ 31 i fawm wEait @ am |
(A) 2225 (B) 2475 (C) 2755 (D) 3132
10. Ifthree lines 3x—y =2, Sx+ay=3and 2x+ ¥y~ 3 are concurrent, then a is
equal to _ N
ﬂﬁ?ﬁ?mk-y=2.ir+ay=33ﬁllr+y =3gmhE, MaFMAATE ?
(A) -2 (B) 0 (C) 1 (D) 3
11. The three lines represented by y* —4xy = 0 form which triangle ?
(A) right angle triangle (B) equilateral triangle
(C) isosceles tnangle (D) None of these
y3 -4y = 0 wzfifa # e #m w P = 2 2
(A) wwm B (B) wwaTg Py
(C) Wiy Py (D) 7= @ % T

y2. Number of common tangents to the circles
-‘-_.13+}f3=4andxz+}f:-6.r-ﬂy=2-l 5
g x2+y? =4 32 + y? - bx - By = 24 ) vl el - T ) wwm R
(A) | (B) 2 © 3 (D) 5

13. Ifx+y=Kkisnomal toy*=I2x, thenk is
aRx+y=k y?= 1208 ek, Mk d
(A) 6 (B) 9 (C) 12 (D) 18

I4.  The centre of the ellipse 4x? + 9y? + 16x - 18y - 11 = 0 js

Aefgm ax? + 9y2 + 16x - 18y - |1 =0T H5;
” (A) (I, 1) (B) (1,2) € @ (D) (-2, 1)
CGode No. : C-653/2020/Series-A 3
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15.  The eccentricity of the rectangular hyperbola is

(A) V2 (B) 3 € V5 (D) None of these
. FrarER RfovEer i sz
(A) \2 (B) 3 ©) 5 (D) v &= 7

16. If the mode of a data is 18 and the mean is 24, then median is
a3 Wi 1 e 18 aft e 24 B, A e @m
(A) 18 (B) 20 (C) 22 (D) 24

17. The minimum value of 3 tan® 6 + 12 cot? @ is

3 1an? @ + 12 cot? 0 % Zgraw o &

(A) 12 (B) 18 €3 ., M®
18. If the lengths of the sides of a triangle are 3, 5, 7 thenithe ;n;ges’: angle of the
triangle is : b

4fy fowelt firgel &0 syt A gl 3, ! 1!.'*1}3:1!;[ qaa gm @
OF ® n o\ ® 5 o 3

§9. From a tower 128 ml‘ughlht ﬁngk of depression of a car is 26°. The
distance of the car{rom the tower is

. (A) 224m B B) 242m (C) 258 m (D) None of these

'-.stim_ﬁmf#qmmmm:aﬂwwt,?hm'ﬁmﬁ{nmm ?

() 2%m p- (B) 242m  (O) 258m (D) ¥ RS L

20, Ifsinx= é! then cos~! x is

sn Sn 3
(A) 5 (B) % © To (D) None of these

R sin! x = SE 7@ cos™! x 8

B 5 |
(A) 3 (B) 5 ) = (D) ¥d & =i 7€



21.

22,

15.

16.

—— A Ze10 2/ Serien-A &

It'A=[ “ land |A] = 125, then the value of @ is
2 o

ﬂfta=[u 2]m|5|3=|25,atu$rqnt

2 a
(A) £3 (B) t4 (C) £6 (D) =7

If A is a square matrix such that A2 =1, then A1 is
TR A T e YA TN R R A2 =1, 7@ AT R

(A) A (B) 2A (C) A+l (D) 2A +1
The number of real roots of
x|2= 7| +12=0is
(A) four (B) six (C) seven (D) twelve
| x[2=7] x| + 12 = 0 % vt vz 6 we }
(A) =M (B) ®: (C) 9m (D) ¥mE
n and e are
(A) natural numbers (B) integers
(C) rational numbers (D) irrational numbers
xdned
(A) lﬂ'fﬁl?-m (B) il '
(C) itk g (D) wafog weand
.J
_ J'm:zi di
The value ot'.[.‘.'f'u'”im is
'.l
| _fscczl dt
lh-'Pu .Iiiﬂx wuE
(A) 1 (B) 2 (C) 4 (D) §
Every continuous function is
(A) not differentiable (B) diferentialle
(C) increasing (D) decreasing
wAw Jn wer R

(A) feadaadl (B) fawefn  (C) mfurm

e e e —



27.

28.

29.

30.

k) B

32.

If x>0, xy = |, minimum value of x +yis
e x> 0, xy = |, @ x +y H A 7A@
(A) O (B) | (€) 2 (D) 3

j(x- 1) e dx is equal (0

[e-nerdemmmt
(A) —xe'+c (B) xef+c¢ (C) =xe*+c (D) xe*+c

|
Jlxldxis
-1
[
[ dx®
-1
(A) 0 (B) | - (©) -1 (D) 2
The area enclosed between the curves y = x* and x = ylis
my-ﬂ:ﬂtxﬂy’t“mml
1 | 2 4 m
(A) 3 (B) 3 ©) 3 (D) 3

dly Y =

The solution urdx’ = () represents
(A) astraight line(B) acircle (C) aparabola (D) apoint
:—;I-nmmmfml o

(A) TRE@ @ (B) THYW (C) wwwwew (D) wwfig

Dimnubctwmtwopmllelplmcslr+y+22-8md4.r+2y+4z+5.g

15
2w el 2c+y + 222 8 W ax+ 2y +dz+ S=0F M FHR
(A) 3 ® 3 © 3 D) 3

B Code No, : C-653/2020/Serles-A



33

34

3s.

7.

38.

{?+H}u{i‘—g}is
(A) 72-82  (B) ATxD)
(@+Byx(@-D)R
(A) 32-b% (B) 2@ x b)

() 2['1_; «a) (D) None Of the,,

©) ABxd) (D) FEIN

In a single throw of two dice the chance of throwing a sum of 8 s
21 et 2 s a3 8 A 3 o) e & 3 4
2 7 1 13 |

For specifying a straight line, how many gmmﬂi‘icﬂ*pﬁﬁmﬂm should b

known ?
mmmtmﬁmmmmmmt?
(A) 2 (B) 3 (C) ¢ (D) 5

-

36, - x-axis is the intersection of whlch lnn ptan:s ?

(A) ayandyz  (B) yzandax  (C) xyandxz (D) Noncof the
xmﬁﬂﬁamaﬁwuﬂr@ﬁt ?
(A) r;aﬂm (Byyz Mz (C) xydlte (D) FHADT

llrn
x=0

I-'-.x)ﬂ I
£

. (1 +xP =]
lim : 2

r-+0

(A) 0 (B) I ©) n —

~

(1 - cos x) cosec? x dx equals

(1 - cos x) cosec? x dx Y& wuyy §

X |
(A) an5+c  (B) “lan=+ e
29127 (O cat3+e (D) 2“".2-4::'

o

T — — ——
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39, ‘ lsin 2n v dv is equal 1o

40.

41.

41-

43.

- i S ————

0

|
1 | sin 2n x | dv 3 |uTa R
0

| 3 2
(A) O (B) -— (C) - (D) —
n n n
The denvative of an even function is
(A) aneven function (B) an odd function
(C) non-negalive (D) None ol these 0

F AH WS F ASEA
(A) TR ER®EA (B) T famm wem(C) A-Fomerw (D) ¥an @ w1 T

Pressure gradient has the same dimensions as that of

(A) cnergy gradient (B) wvelocity gradient m i
(C) potential gradient (D) None of these

714 WAl  FEe qee e Ea @

(A) FAWEw  (B) @nwEweE (C) fava waur (D) §99 & &18 A6

Two bodies are thrown up with initial velocities in the ratio of 2 : 5. The
ratio of the maximum heights reached by them is

2w @1 2+ § arqum & wrifves @n @ H EE T R ) ITE g o wiewam
Foard w1 I R

(A) 1:3 By 2:7 (C) 3:% (D) 4:25

| . .
A bullet loses 55 of its velocity afler penctrating o plank. How many planks
are requared to stop the bullet ?
qmgﬁzmmmﬁﬂtmmﬁmu‘lmhwmmmfm_
fom <t ) ymazmEa R 7
(A) 9 (m 12 (C) 15 (D) 18

e e . — T T — i —— T — —

9 Code No. : C-653/2020/Series-A



44,  The ceiling of a hall is 25 m. What is the maximum distance at which a ball |

Lan be thrown inside the hall
;‘Eﬂiﬁﬁiﬁlﬁﬂ‘zﬁm%|ﬁaﬁnﬁmﬁmﬂ3¢fhmqﬂa$ﬂaﬁ?ﬁmm#?
(A) 50m (B) 100m (C) 150m (D) 200m

45. Two forces of 12 N and § N act upon a body. The resultant force on the

body has a maximum valuc of
llumsnﬁﬂﬁ@ﬁzmmﬁmélﬁsmqmmwmﬁ:ﬁﬂmt
(A) 8N (By 12N (C) 16N (D) 20N

46.  Two bodies of masses m and 4 m are moving with equal kinetic energy. The

ratio of their lincar momenta 1s
ZEITH maﬂum%z‘nﬁsmﬁmm#nﬁmﬁ | 34% g qan &

FaA R

(A) L] (C) 4:1 (D) 1:4

iy 1:2
47 Physical independence of force is a consequence ol
(13) Second law of motion

(A) First law of motion
(D) None of these

(C) Third law of molion

aa ) viifirs T s o 2 7
- (A) Ty wam fam

(€) wfa & diem Fram

(R) mfa @ Zam Fam
(D) w8 = TE

A motoreyclist double his velocity when he is having a tum. The foree

4b
exerted outwardly will be
(A) hall (B) double (C) 4 umes (D) None of these

U STZTETE TR Han H1g FR A G A R | AT ) 3 A 7@ am

(A) ¥ (B) g (C) 47 (D) 8 @ B 7

49/  When kinetic energy of the body is increased by 300%, th -

O the body 1s increased by ’ W I
—q fig &1 i T 300% T A R, A fre & wam  gfg o

(B) 200% (C) 300% (D) 600%

— ———
——
—
T — -
S e e —
S —

(A) | ﬂ'ﬂ?j_ B
Fnjer-ﬁ; _:-Eﬁ?lﬂ 020/Serles-A



51.

52,

53.

55.

A i - ;
n elevator is run by the cables at constant speed. The total work done by
the elevator is

(A) zero

(B) negative

(C) positive

(D) positive or negative depending on the direction of motion

v Uferde el g CHETE TR B A @ 2 memﬁmg

(A) 719

(B) HUITHH

(C) uAT

(D) T 71 e, i 6 frm w el |

A disc is rotating with angular speed . If a child sits on it, what is

conserved ? .
(A) Kinetic energy (B) Potential energy

(C) Linear momentum (D) Angular momentum )

v far i 91 WA R lﬂﬁ:ﬁmmmm&-mwmﬁﬂm% ?
(A) w8y fRufrE % (C) Wmwan (D) FiE E
To move a body in a circle, which of the following forces is needed 7

(A) Cemnpetal  (B) Centrifugal (C) Grn}'imliunal (D) None of these
qaﬁga&qﬂﬁ@ﬁmmt{ﬁnﬁhﬂnnmﬂaaﬁ STa7aHA w8 7
(A) FEA (B) IEA () T (D) ¢l B @1 T
Which of the following interactions is the weakest ”

(A) Gravitational (B) Electromagnetic ¥

(C) Electrostalic (D) Nuclear o
Frefefia 8 @ a1 i g fwa fdam R 7

(A) T (B) faga-<adna () faga-=Afas (D) TR

The colour of star indicates ils

(A) size (B) velocity (C) temperature (D) None of these
artl & 1 Zat & 36
(A) N (B) &M (C) ATTHH (D) ¥ & &7E TH

A lift is ascending with g/3 acceleration. What will be the time penod of a
simple pendulum suspended from its ceiling if its period in stationary liftis T 2

e forwe /3 mfa 8 F9 1 T R | 3l va A Feifaa ae d@es w1 SEdee

o Fim, a2 fan ferwe 3 g a7 R 7

(C)y T (D) ‘\E'r

ta )=

1
(A) 3 (B)

T B,



S6. A jar has o mixture of Hy and O, gas in the ratio of | :

Kinetic energy (K.E.) of Hy and O, molecules is

Emnn,aﬂto,ﬂnml q%wﬁﬁmtuﬁ,fﬂmmmﬁ
aﬂmnﬁami'ﬂuaqm%

(A) 1 B) 1:2 (C) 1:4 (D) 1:5

5. The ratio of mean

S7. If S is stress and Y 15 Young's modulus of material of a wire, the energy

stored per unit volume of the wire is
afe wh an & yerd & afrem S ahoan o Y R, @ anod e g s
wfaw wa #

;ﬁ"\ S -

Y Y. Y
(A) < (8) — €)= C
S S :

58. Freon is mosi suitable as a refrigerant because'of %5'
(A) small specific heat smdlMatent heat
(C) small specific volume /gﬁ‘;m"u relative density
R Weitas & w0 8 Hafius c
- ¥
S (A) R FE S E . ) (B) WA I F F
(©) mmm# { (D) &M ANY TR % w0

‘\‘
59. Work done agma,ﬂ‘lcu

(A) (B) adinbatic process
(C) I%mﬁs (D) None of these

(A) Wmmm (B) warARENR |
(C) gmard ufwn R | (D) FH & F T

60. The coefficient of thermal conductivity depends upon
(A) area of the plate
(B) thickness of the plate
(C) nature of the metal
(D) temperature difference between (wo sides

AT e T faRe m i e @ 7
(A) Fe & &TFe W (B) @R T
(C) vy (1) AN

—
S ———— —— ——
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ﬁl. | . z H [
(_," The potential energy of particle exccuting Simple Harmonic Motion

62.

66.

——

(S.H.M.) with amplitude *A* is maximum when displacement is

AT * A" % |G B A i R w0 am@ & @ fefaa s s
it s fareers @)

(A) zero/7=  (B) f:i (C) :t% (D) =A
Which waves are used in sonography ?

(A) Sound waves (B) Micro waves

(C) Infrared waves (D) None of these
BT 8 @A A i g B {7

(A) wfiam () gEmam  (C) dawA N (D) T @ HE A

Unit of Stefan's constant is
= fagars &) o @

(A) watvm?K* (B) watvm*K (C) watt-m?K*(D) wau - m¥/K*

A semiconductor has an eiectron concentration of 8 x 10'3 per m? and hole
concentration of 5.5 x 1012 m3. The semiconductor is

(A) n-type (B) p-type m
(C) ntrinsic semiconductor (1)) p-n junction

v sfaETEE 1 YeERI He2 8« 1013 afa md aiv foz @EEm 55« 10 m)
| andarers R

(A) nSHN&H (B) pFEIH  (C) IANFFEH (D) p-n Aw= W

A current carrying loop is placed in  uniform magnetic field. The torque
acting on its does not depend on

(A) shape ol the loop (B) area of the loop

(C) number of tums in the loop (D) strength of the magnetc field

e widfrw a8 A 0w faga e o o A R 3w @ e g
mm;ﬂﬂﬁ‘h?ﬂﬂm -

(A) 991 & SRR T (5) SN et

Minimum energy required to take out the only one electron from ground

-of He™is 3 a7
::af;tmﬁ { el U YO G &3 & fen smavas < s @
{;i 6.8 ¢V (B) 136eV  (C) 272e¢V (D) Sa8ev
S e ] Code No. : C-653/2020/Seriesa
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67,

"8

69.

70.

71.

72

To get three images of a single object, one should have two plane mirrors g|
an angle of

Wmhtﬁauﬁhmmﬁ*ﬁ&ﬁmmmmmm

e 7 #
(A) 30° (B) 60° (C) 90° (D) 120

According to Curie's law, the magnetic susceptibility of a substance al an
absolute temperature T is proportional (o

0 s ¥ 1T Fredes A T W favel el <1 e rgfes e @
(A) '? (B) -T'— T (D) T?

An electnic dipole placed in a non-uniform electric field experiences
(A) both, a torque and a net force

(B) only a force but no torque

u JEaT fagm e _. 2
(A) T&-Fml 3 2w I % &, i - el TE
(€) FFam a3y g e - 3 9@ e 2 A

The angle between clectric dipol
1o it on the axial line 1s

Tt?gawi I{_}.Jmmﬂ; Ry i i s i

(D) 180°

the electric field strength duc

5 a0 I1 together !!

E.M.F. of ceil deplicr;l.ﬂ'is upon
(A) internal resistance
(B) external resistance

(C) electrolyte and the electrodes of the cell
(D) None of these

da @ fa e ww fnfogm R
(A) ¥t affia @ (B) = wfiyg w

(C) foga- sz shiver & e U (D) ¥ @ 7Y

If the clectric current in a lamp decreases by 5%, then the power onipy
decreases by

afg, o e 1 farga wm 5% we A, A 3wk i amaeg # w5 E
(A) 5% (B) 10% (C) 20% (D) 40%



73.
The cyclotron frequency of an clectron gyrating in a magnetic ficld of on¢

Tesla is
U 25T e i it e ) g 6 AT g
(A) 28 GHz (B) 56 GHz (C) 84 GHz (D) 112 GHz

74.  Susceptibility is positive but smaller for

(A) ferromagnetics (B) diamognetics
(C) paramagnetics (D) non-magnetic substunces
HOTEIA WA F R, qi e A
(A) #hegast & fem (B) wfireri & fer
(C) Iga & fery (D) ugﬂﬂﬂqznﬁﬁ;ﬁ“-m
75 Self-inductance of a straight conductor is \
(A) zero (B) infinity (C) v X 3 very small
HIF Wt & = - T Bl R
(A) A (B) 4 :ml:l{m wrafus &9
76. The idea of displacement giv
(A) Max Planck ({ F:% (C) Hertz (D) Maxwell
faezmem @ T 4
(A) w%ﬂ), (€) w3 (D) frawde

60
ti

has refractive index \f- What s the angle of minimum

sqadatd A2 R | e e am e R 7
(B) 60° (C) 90° (D) 180°

ris

(A) 30°

98. The ratio ol the specific charge of a proton to that of an a-parucie i

gﬁzﬁtﬁﬁmmmam%faﬁmmammmg

79. Which of the following particle is unstuble ?
Proton (B) Neutron (C) Electron (D) Alpha particl
A ﬂaﬂﬂmmmmht? particle
(A) 91 () Y 5 (5] e

Y Is Code No. : C-&SJﬂﬂlﬂr‘S«lrln.A



80,

L

83,

84.

| oy o0l GRS

The process ol superimposing signal Frcf;’ut‘m:-’ o ;'I,‘LIIIT]E[;:"' HSZIccliﬂn
(A) Transmission( ) Recepuon ) (C) Moduation |

U, FTE 77 0 Wb WIgH & e 6 afE ;

(A) &um) (B) sfmEm () wiges (D) &7

One mole of oxygen gas at STP 15 equal o
(A) 6.022 « 1023 molecules of oxygen
(B) 6.022 < 102 310ms of oxygen

(C) 16 g of oxvgen

(D) None of these

STP W U 1 witaeira fompen e 2 7
(A) NTHTA & 6,022 102 T (B) T F 6,022 x 1023 qrmy
(C) TR & 16 (D) 330 8 &ré 3

Which of the following has maximum number of unpaired electrons 2

ﬂnammmﬁmmmn
(A1 Mg (By Ti- (C) v D) Fe2

The elecironegativ iy of €, v, Si and P are in tne order of
C.N.Si 3t p o) Fagrsmn =1 2w 2
IA) Si<P<C<N

(B) Si<pP<Neg
(C) P<Si<N~-(C

(M PeSja e
Which of the followin
(A) Water

g substunces has dipole momen g

1ore than zerg 2
(B) Nitrogen

(C) Methane () Carbon dioxide
h:rﬁ-wﬁnﬁﬁfﬂmmﬁm&gamqﬁqmﬁwmﬁmt ?
(A) 79 (B} %09

(C) frirm (D) Fra TR

Which s of conditions represent the easiest way to cool a gas ?
(A) Low temperature and low pressure

(B) Low temperature and high pressure

(C) Thgh temperature and low Pressure

(D) High temperature and high pressure
mmﬁhﬁmnﬁmﬁnmmmmmmﬂﬁmmuﬂ 7
(A) = am i fg e () = v sin 7w 279
(C) T A i fas o (D) 3% 71T 30 = 2

O S — —

Code No. : C-653/20201Serles-A 1o e .



86. Heat ¢ '

: xchanged in a chemi

: chemica :

1$ called ical reaction at constant temperature and pressure

(2] Free energy (B) Entropy
% Enthalpy (D) Internal energy
AR 3 2@ T o T s i Rrfmfan s @ aE §
(A) TRFH  (B) @ (© e (D) i

87. The concentration of hydrogen in a sample of soft drink is 3.8 x 1073 M.
e pH of the solution is

5 P& R Al § wrered o @i 3.8 x 1073 M # | faera % pH R
(A) 2.42 (Ry 2,84 (Cy 3.36 (D) 4.24

88. In the reaction : 2Ag + 2H.80, —> Ag,SO, + 2H,0 + 50,
Sulphuric acid acis as

(A) calalyst (B) oxidizing agent

(C) reducing agent (D) acid as well as oxidant

R : 2Ag + 2H,S0, —» Ag,S0, + 2H,0 -+ SO, ¥ wewlis ufaz &
LGN

(A) ToIGh & FUH (B) fedirns & &9 1§

(C) awH & ¥ | (D) ufers vd sfaefawn & 9 i

89. 'Which of the following compounds is used for waler soltening ?

Creerftan § ® w3 w1 i o JEFE & T TgwE € R 7
(A) Na,HPO, (B) Na,POy (C) NayPO, (D) Cay(PO,),

90, The formula of soda ash is

#iTe1 o 1 A
(A) NayCOy (B) Na,C3T,;:H,O
(C) NayCO,-2H0 (D) NayCQy -« 10H,0
91. Which is the anhydride of nitrous acid 7
T5gA oftrs w1 TS
(A) NO (B) N304 (€) NjO, (D) NO

_____ s et 17 Code No. : C-653/2020/Serles-A
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93,

94.

\2)

o

Which belongs to alkyne series 7
WA ewTgs Al B waEfuA R 7

The lughest bonling point is expected for

(A) 1so-butane {3) n-butane

(C) n-octane (D) 2,2.3.3-tctramethyl butane
(A) TR -325 (B) n-=g2

(C) n-wiw (D) 2,2,3,3.zzmfus =29

BOD 1s & measure of
(A) Organic pollutant in water

(B) Inorganic pollutant in water
(C) Particle matter in water

(D) None of these

BOD femsam & 7
(A) 77 3 F1fIs weww o (B) ¥ ¥ yrwmdfias wowe o
(C) w= | %o wzrl W (D) ¥ & =1 =ff

Which is also known as dislocation defect 2
(A) Simple interstitial defect
(C) Schottky defect

fod fammm 3f i smi I @ 2

(A) " e 1f2 (B) ¥-w=iefenfad 1f2
(C) wmieh gfe (D) Vet qf2

(B) Non-swichiometric defect
(D) Frenkel defect

2.5 liwres of 1 M NaOH solution is mixed with 3.0 litres of 0 5 M
solution. The molarity ol the resulling solution is

I M NaOH faerma & 2.5 Fre ) 0.5 M NaOH faem & 3.0 ferzr 6 fafi fasn
At # | afomd fases ) gren &

(A) 0.73 M (B) 0.82M (C) 1.06 M (D) LI2M

-
B —— e — — i—

NaOH
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97.

98.

99.

100,

101.

The cunducliril}* of 0.01 M NaC/ solution is 0.00147 ohm=! em~!. What
happens to the conductivity i extra 100 ml is added 1o the above solution ?

(A) Increases

(B) Decreases

(C) Remains same

(D) First increases and then decrenses .
001 M NaCi faerms 6 T 000147 ohm-! e & 1 Afe 36 fa@@a A
100 ml 3 forsirmn w1 A1 Jwht arean § @ gfrada wm 7

(A) T (B) & F

(C) THE T (D) e a@ fo & Et |

\ x i - # - o
The rate of a chemical reaction becomes double for every 107 nise in

increases by aboul

(A) 32times  (B) Hdumes  (C) 64ume A
afa 10 wreEE 1 gfg w el il ;%mﬁ
§0 °C T2r Am, @ swfufEm & @

(A) 3271 (B) 44 ) (D) 11277
The catalyst ’ ienard reagent is
i (B) lron powder

(D) Manganese dioxide

The process of converting hydrated alumina into anhydrous alumina is
called

IA) Roasting 1!3} Cﬂlcillilliﬂn (C) Dressing (D) Smelting
Feita wryfeen #1 Feeia ooyt 4 afrafda &503 @ vfen % #x8 2
(A) VA3 (B) Femm (C) wfammm (D) e

The oxidation state of phosphorous in Cyclometaphosphoric acid is

HIGEATZIHIRITT Ufee B wionmm €1 wiwdism s 2
(A) +2 (B) +3 (C) +4 (D) +5



102. Which of the following is not known 7
Frefefaa 8 & @) wm 7 R 7 . i i Cili;
(A) CuF, (B) CuCly (€) Cul;
103. A group of atoms can function as ligand only when
(A) itis asmall molecule
(B) it has an unshared pair of clectrons
(C) itis a positively charged 1on
(D) None of these .
Wﬁmmm#mmﬁmmtmm
(A) TRTTE HYE | _
(B) 3WH tera® 1 SrERWIfad 8 7 |
(C) TR uATafA 39 K |

(D) 38 A & 13 T7
104. The IUPAC name for CH;CHLCH,CH(CH = CH,)CH,CH,CH is
(A) 4-ethenylheptane (B) 3-n-propylhex-1-ene
(C) 3-ethenylheplane (D) None of these
CHyCH,CH.CH(CH = CH,)CH,CH,CH; #1 IUPAC 719
(A) 4-TUATEETRe (B) 3-n-MUZHEM-|-F3
(C) 3-vaTgeee (D) 9 A &8 T
{
105. R-C/+Nal—="2%, R+ NaCl. The reaction is
(A) Frankland reaction (B) Finkelstein reaction
(C) Fittig reaction (D) Wurtz reaction
. wHiEE
R = Cl+ Nal ——— RI + NaC/ sfufirn 2
(A) S=wets wifvfeam (B) F¥emms wfufema

106. The reaction u:'lhich involves dichloro carbene as an clectrophile is
(A) I?.:_lrn:r-'! lemann reaction (B) Kolbe's reaction
(C) Fncdci{raﬂ‘s reaction (D) Fitig's reaction

FmaafﬂfmmnmmmwﬁqmﬁIWa:mnn&hag?

(C) sﬁma-marﬁiﬁm (D) fwfam s
Code No. : C-653/2020/Series-A TRt S



. When 2-hydroxybenzoic acid is distille

A ) Phenol d with zinc dust, it gives
C) Benzaldehyde (gl Benzoic acid
i - (D) A polymeric product
Iﬂ!-ﬂ!‘i‘lﬂ‘aﬁﬁ‘ mmﬁamﬁmmmtj"m‘aﬂ
(A) FHE

(B) dEm=wufe (C) dwfeeese (D) wifemits 30

18, Dye test can be used to distinguish between
(A) Ethylamine and acetamide (B) FEthylamine and aniline
(C) Urea and acetamide (D) Methylamine and ethylamine
fmran 41 W2 Ta 5 foe 2 wfiem wge feam s R 7
(A) TAREATH 3N wHienTEe (B) FurgerTd s wAfeA
(C) ghan i vHIEES (D) FramgeE 3 gUTEAE

109. Which hormone contains iodine 7
(A) Testosterone (B) Adrenaline (C) Thyroxme (D) Insulin
fam wiGTR B wrdies ARz R
(A) R (@) R (C) g (D) fem

P
110.. Nylon 6, 6 is not a

(A) Condensation polymer (B) Polvamide
() Co-polymer () Homopolymer m
a3 6, 6 TR

(A) maf giEm (B) qtefrmrez (C) HR-9iT (D) T

111. The basic education system was based on the view point that the child
(A) isnot interested to learn anything without economic motivation.
(B) can get better education through a meaningful and creative piece of
work.
(C) can get more knowledge by reading books.
(D) leams all the good things with the co-operation of the people of the
sociely.

gﬁmﬁﬁmumﬁﬂmqﬁfmmmtﬁm

(A) e it i faen 30 v g & st ol wa ¥

4y s S EET SrEes & M & e fan s aowea
(C) gnraﬁmmzmmmmmmg.

(1) m%#ﬁﬁin‘ﬂﬁﬂﬁmﬁm#ﬁﬁﬂ!mil

P — e — R —————
T 11 e 7 e s et e




112, In your point of view, education can be meaningful only when

(A) 1t1s employment-cenired (B) it is society-centred
(C) 1tis child-centred (D) it is subject-centred
mﬁgﬁmﬁmm%ﬁﬁmﬂmﬂmﬂmﬁﬂi

(A) =% T Hf2a 8 | (B) @ 98T HiZA E |

(C) @& e Hf2d B | (D) e faga &z 8 |

113. *Mind mapping’ refers to
(A) researching the functioning of the mind
(B) a technique to enhance comprehension
(C) drawing the picture of a mind
(D) a plan of action for an adventure

‘q13e Aftn’ wefia 2
(A) ufers & &3l & r=an 4 (B) w99 agR 1 U Ak A |
(C) ufra & faa sneea 8 (D) & wTRy (vzaat) ) Fwr JrEE

114. In the project education technique, the work load on the teacher is
(A) very high (B) comparatively low

(C) low | (D) nil

aftairaan fonan aeftes 1§ finares t wTddT Er R

(A) Freafus (B) oS ¥ 8 FY
(C) &H (D) 9=

115. Special education is rclated 1o
(A) lraining programme for retarded
(B) training programme for lc:*:chcrs
(C) educational programmes for talented students

(D) educational programmes for disabled
fardry faran wafua R
(A) tiafzdi 3 fere sfnon HTdH
(B) faver & for whanagwn dFd
(C) whavraeh farenfefat & fere fem Frke
() fageint & e, Fnegen e

— e — T ———— —
.
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16 The educator, who promoted the idea of five formal steps in learning, was
(A) l'lerharl* (B) | Pestalozzi (C) Comenius (D) Rousseau
fenfae, o sftm 1 vfe sfvefs @El & faan yafa i o

(A) wHC (B) st (C) FWGEE (D) FE
117. Which quality of the teacher is liked the most by his students ?
(A) His command (B) His love for discipline
(C) His punctuality (D) His impartial attitude
Farerh 1 5 7T I fata g wetfues T R e R 7
(A) T8 faa=m (B) 6 H7TEA % 9fd 99
(C) I8 AHIAE]

118.

119.

120.

121.

(A) dyslexia
Tt T @
(A) Fe=fam

psvchologist ?
(A) Binetand T '
(C) Stemberg , ilham Stem
i TETATTE 2 fe afe 1 dwedq wATfad & 78 7

@) stz @ B QT ) () fafw

Secondary Education Comnfission (1958-83)  t&bmmended which pattern
of education 7

(A) 10+ 2+ 3scheme (B) 12- 3 scheme m
(C) 11+=2+3scheme (D) None of these
arezrfe fne T (1952-33) 3 Fam fnen w2fa o segman & o 0
(A) 10+2= 3T (B) 12 - 33
(C) 11 +2+ 3T (D) &8 & 7§ 7H
As per Census 2011, which district has I}ighm decadal growth rate in H.P, 2
(A) Hamirpur (3) Kangra !.Ll' M.m_d[ (D) Una
2011 1 el &5 e, feeree 7 & R e 8 waifirs g gfe ek -
(A) m (B) EAUEL (C) HUE (D) Fa1

e e "_'_21_"_"-—- L P
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122. Which district headquarters is located at the lowest altitude in H.P.?
(A) Dilaspur (B) Kullu (C) Hamirpur (D) Chamba

B &1 foren Wermera femre waw & @ fe g @ feaa # 7
(A) faEmg (B) e () (D) =40

123. Indzasan mountain peak is located in which district of H.P.
(A) Lahaul-Spiu (B) Kinnaur (C) Kullu (D) Sirmour

g wda foar fearas wem & fam fe i 2@ 7

(A) mma-wfifa (B) =k (C) FF (D) Faw
124. Laluni jot s located in which district of FLP. ?
(A) Shimla (B) Solan (C) Chamba (D) Lahaul-Spili
FTepl aa femrae wew & fan foret d fzm 2 7 ® *"‘g
(A) Pmen (B) #Ies (€) == @' -#ifa
: @ . ,
125. Kalika Kund water spring is located+ %@ ctof ILP.?
(A) Chamba Kully, X D) Mandi (1)) Kangra
wferan 5% TV o e o o o
e (C) nvdl (D) &g

e fig 3 wodi 1 am A 4l 7
(B) 1697 (Cy 1711 (D) 1724

1685

127. Which movement took place in Bilaspur ?
(C) Pajhota (D) None of these

(A) Jhugga (B) Dhami
faremag & S @1 JTQeE 330 41 7 .
(A) gm (B) wri (C) asitn (D) 7 3 F 7
128. The old name of Nalagarh was
\A) Baned (B) Sukel (C) Mahasu (D) None of thest
TR W G A > 7
(A) =Tz (B) ¥k (C) ®rrg (D) i § Fré 7

— S ——

J-‘:.‘-_g. -_‘ — e — - —
-ode N, . C -ﬁﬂllﬂlm.'i;-ﬂﬂ-i_ B o



v, Which of the followin .
mn 1965 7 B received the National Award for Master Craflsman

(A) Geeta Devi (B) Seema Devi
(C) Maheshi Devi (D) Reena Devi
Prerferfiaa 1 @ fora3 1965 1 wme wwmit e grm g @ 2
(A) Tz (B) d@mEh () mefiz (D) G

130. Dicky Dolma belongs to which district of H.P. ?
(A) Shimla (B) Kinnaur (C) Kullu (D) Mandi
e Zrem feurara wem & frm P & wfue R 7
(A) fonen ) fa=in (€) e (D) "UE

f "ﬂm
ﬂ.-
|
:'

131. Who was the first Judicial Commissioner of H.P.? =
(A) M.H. Beg By T.V.R r:uu&e
(C) H.S. Thakur (D) JN Hanr.qm %c
1 e wem = wum =0t 3w 4 &
(A) TH.UH, M ™ '&.:_ﬂ?ﬂ'l‘l’ ArATET

(C) U= .TA, IEH f%‘ ‘Qm):.-;afﬁq Bl
o .ur!r ®--

132. Total number of nssm'nJ :t@ptuum.u.s i Mandi district is
(Cy 15 (D) None of these

{r\.} 5
#ﬁgﬁ-qgﬁam i e w8
A ] 8 . o
{Mﬁ \/ (B) (C) 15 (D) 378 | = TE
133, ﬂz: .‘ﬁ'gnmhuml Management Extension Traiming Institute is located at
ich place in H.P.?

(A) Palampur  (B) Nauni (C) Mashobra (D) Sundemagar

mﬂmﬁmuﬁmmmmﬁmf&mt 7

(A) TTEHq (B) A (C) womm (D) Hem

134. The Kol Dam Hydropower plant is built across which river ?
(A) Satlyj (B) Beas (C) Chenab (D) Ravi

£y Fetaga (Frggta) s fas 74 o b R 7
(A) HAT (B) =M (C) ¥ (D) Tt

< — —— e

e e e e e e e e e 15 7 Code No. : C-653/2020/Serles-A




135, Burah dance s performed in which district of .. ?

(A) Sirmour () Shimla (C) Chamba (1)) Lahaul-Spity
qr 74 fesam wew & S fa i fae st 2 2
(A) faaih (B3) fomen (C) = (D) =@ee-wiifa

136. Inacertan code "453° means ‘pens are new’, *362" means ‘hoys are young',
'SO8" means “buy new clothes” then which of the following number is used
for ‘pen’ ?
= f3f7aa &z 4 453 @1 wd 3 ‘pens are new’, ‘362" # ned R "bovs are
young', '598° ®1 34 B ‘buy new clothes’, 7 fi=fefea 4 @ w1 @ ®en

‘pen’ & fem g @ 7
(A) 3 By 4 (C) § (D) 9

137. In the following number series how many 8's are there which are preceded
by 3 but not followed by 37 )
Pttt wen e G ta e -y §Fmm ved s R ar 37 7
53333553$4$33H$E]3,’)S§53{§.'533

(A) 2 (B) 3 (C) 4 (D) 5

138. In a class of 45 students, among these students who passed Anmol sccurcd\

| 1% position from upwards and 15" position
iled ? o ‘ .

zuﬁd:;:f;?ﬁuﬁ% 2=l % TR KO BT 3 T I TG ECECE:ARE

mqmﬁmalrﬁxaﬁwﬁiﬂgﬁ? | -

(A) 15 (B) I8 (C) 20 (ny 2

from downwards, How many

— . . ( pot as much as Lalu. Anand 1s hcavicr than
139. Anil is heavier than An::“:t::l noLBE % lighter than Shyam, Who is the

Vijay. Raman 1s heavi

?ﬁ?te‘z‘il- (3) Lalu (€) *"f'““d ‘ (D) Anil .
wfa ;rr;aﬁurﬁihijﬂﬂf'mm'mifaﬂﬂmﬁlm,yﬁﬁa
“‘Mﬁi‘amﬁwtliﬁ’ﬁmwg? |

(A) g (B) @ (C) TR (D) =

68372021 — T 26
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g Complete the series :

.
HMT, IPR, JSP, KVN, %
(A) LXK (B) KXM (C) KYL (D) LYL

{1. Which space agency is sct lo send astronauts to the International space
station for the first ime in May 2020 ?
(A) NASA (B) ISRO
(C) SpaceX (D) Europecan Space Agency
F3 F T\ vaE v 2020 § wuw an sty §1 A T 29 § ¥
FimmnfmRR 7
(A) Am B w
(C) SpaceX (D) qﬁmﬁawsﬁaﬁ

-,' ""'-

142. Which technological firm along with ‘\ASSCQM I'Ounﬂmmn recently
launched the *Innovate for Accessible India” umpmgﬂ"

(A) Apple (B) Amazon (C‘)“ Mlcmsnﬁ (D) Google
ﬁn%ﬁiawnﬁwﬂaﬂﬁmﬂﬁwﬁfuﬁﬁfoxdmﬁm R Crd
wiT UFAHTES 3iear aﬁun‘!g'a'mm

(A) T (B, M‘ﬁ% (C) wEmmE (D) T 53

143. .World Cim@ Summif hml:d recently by which country ?

[A} Uﬁ | - / (B) Japan (C) Singapore (D) U.A.E.
gmﬁqﬁmaaafawa:m%ﬁm-mmﬁmﬁ ?
(A) 4.5. (B) FmH (C) famg (D) 3.ui.

4, Which former Chief Justice of India has recently been nominated 1o Rajya
Sabha ?

(A) Dipak Misra (B) T.S. Thakur

(C) Jagdish Singh Khehar (D) Ranjan Gogor

W % firm ygd e i @ g @ 3 0 a0 & o e fea k7
(A) & faon (B) Z.wm. I

(C) drm fife Gt (D) T i

S 27 Code No. : C-65172020#Series-A



145, Patil Puttappa, who recently passed away was associated with which field ?
(A) Sports (B) Joumalism (C) Business (D) Research

71 @ i feama, wide o fem am A wafim a o
(A) T2 (3) wARTIEN (C) =aum (D) qEuA

146. The Dasarajna War was fought on the banks of which river ?

(A) Rawvi (B) Satluj (C) Beas D
zaum gn f@a T F e wadimd o) 7 ) e
(A) el (B) ®ac (C) =4 (D) fay

147. ;I'hc first Budshist Council was patronized by which ruler ?
A) Ashoka (B) Kanishka (C) Kalasoka (D) Aj
) ( ! s atashatru
wuR AN \iifa F1 v g e 3 femow 7 J

(A) 9= (B) wfe=® (C) ®@ms (D) HATawd

148. Ibn-Battuta, a famous traveller belonged to which country 7
(A) Portugal (B) lhaly o (C) Germany (D) Morocco
&1 -, U quiee ol fFe gn s 7 |
(A) FAme (B) ¥eeii (C) (D) At

149. Battle of Chausa took place between
(A) Sher Shah and Humayun
(B) Ibrahim Lodhi and Babar
(C) Akbar and Hemu
(D) Ahmed Shah Abdali and Marathas
e ) wen faTes da a7

150. Who started Atmiya Sabha ?

(A) Rammohan Roy (B) Dayanand Saraswati
(C) Sridharalu Naidu (D) D. Pandurang
famry syTefa F o W TR 7

(A) arEA e (B) <A wwEd (C) AT AR (D) 4. g

— i —— - S ———— T ——— e
— e — e —— T S— T e —
e s g— —— T



151 Norwester is the local wind of which country ?
(A) US.A. (B) Canada (C) Venezuela (D) New Zealand

arae form on A i g R 7
' (A) WY, (B) FAE (C) FgEen (D) FaAeis

152. Which is the deepest ocean ?

(A) Pacific Ocean (B) Atlantic Ocean
(C) Indian Ocean (D) Arctic Ocean

®17 7 HaH e TR R 7

(A) WITTA TETHITR (B) Zenfozea HRTATT
(C) o= wETEm™ (D) ¥ 2% WEETT

153. Which is the largest producer of diamond ?

(A) South Africa (B) Australia

(C) China (D) Russia m
THNUE F1 A 45 TNEH AR 7

(A) gemanhia (B) sfefm  (0) ¥ (D) *%

154. India shares longest boundary with which country ?
(A) Pakistan (B) Nepal (C) Bhutan (D) Bangladesh
W farm 291 & w7y wag ot wi e w f 7

(A) TifFmm (B) 0| (C) Wy (D) wmEen

155, Which is oldest mountain range in [ndia ?
(A) Aravali range (B) Himalayan range

(©) Satpura range (D) Vindhyan range

Rt v o) et ok Ay @ 7
(A) 3nraefi s (B) frwrera e
_ (O magm sjen (D) ferea e



156. Digboi oil refinery is located in which state ?
(A) Guyjarat (B) Tamil Nadu (C) Bihar (D) Assam

Eﬁﬂhﬁﬁmﬁﬂmnﬂﬁfﬂm#?
(A) TAUA By afweAg (C) faEn (D) @M

157. Which schedule of Indian Constitution deals with municipalities ?

(A) Sixth (B) Ninth (C) Eleventh (D) None of these
vt faum # w ) e T & g # 7
(A) B3l (B) A (C) ramgdl (D) ¥ & *1§ 7E

15§8. What is the meaning of the writ ‘Mandamus” ?
(A) What is your authority (B) We command
(C) To be centified (D) To have a body

‘qoTEA’ (Hem) wfew @ w7
(A) v rfuETe a0 R (AR 39 QA )

(B) ¥4 mew (6 FHE)
(C) wenfora g & (7 wféwTee)
(D) wrére 1 g (g B 0 ArE)

of Rajya Sabha ?
(B) Vice-President

(D) None of these

159, Who is the ex-officio chairman
(A) President
(C) Prime Minister

TRTE ] 923 WA AR 7
(A) nafa p) F-mgafd  (C) guEedl (D) Y9 A w1

as been implemented from
() November |, 2017
(D) August |, 2018

160. The Goods and Services Tax (GST) I
(A) July1,2017
(C) May 1,2018
"T%R wvE widaa ze (GST) T ATLEN ?

(A) w@m 1, 2017 () Famar |, 2017(C) 7§ 1,2018 (D) 3mer | 20|18

Co e i e = e
$3/1020/Serien-A 30
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161. Unit Trust of India was sct-up in which year ?
iz 7R 7w ¥z ) v fm 7 ¥ 7
(A) 1962 (B) 1963 (C) 1964 (D) 1965

162. Polio is caused by which of the fallowing
(A) Virus (B) Bacteria (C) Fungi

Wﬁﬁﬁuﬁmﬁhﬂﬁmu

(D) Protozoa

(A) Frm (B) @ (€) wa (D) ST
163, Antonym of *Succumb’ is
(B) Resisl (C) Injure (D) Shoot

(A) Curb

s mother's illness, he at once started Kanpur.

164. Hearing of hi
(B) towards (C) for (D) upto

(A) 10

165. Meaning of the idiom/phrase "A hornet's nest’ 18
(A) acomforiable position (B) an unpleasant situation

(C) among thorms (D) @ dilemma m

166. One word substitution for “A pioneer of a reform movement' i$
(A) Rencgade (B) Aposile (C) Apotheosis (D) Apothecary

167, P w wft fareiz @
(A) f:+@&0 (B) fr+wr (C) fr+w (D) farg + &1

168. gy # waTE R
(A) I (B) aewdvra  (C) '!ﬁﬁ D) 77

169. ‘<t @ qaraard f

(A) T (8) me¥ © ferwm () fo
170. sifea e 8 ggen’ qETat w1 v &

(A) g A (B) WA & wwn

(C) e 3 (D) fautta zm & g

"‘-—-.—u---_-——l——'_,_——l--l—
A CodiNe O.iRAR
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